3 000000000 oooooo((@oo)

00 1(4/1200). 30000000000000000000000000000 int3.c000000
(000OoOoO0oO0o0o0o0n)

ood 1.1. 0dboobooboboboobooboobobooobg Jooooboooobooobooooo
godbbooooboboboooooooo
/* int3.c  2010-04-12  x/ JooooooobobobobbobobOoog

gooogggg
#include <stdio.h>

int n;
int main(int argc, char** argv) n = 3;
{
int x, y, z; goooboooboootoobobobd
gogoggg
x = 2010;
= 4. printfO D00 0O0Ox+y+z OO0 0O
= 19: goooooopopooooooogon

0000000000 (o)ooooo

printf("sum: %d + %d + %d = %d\n", x, y, z, xty+z); oot

printf("average: %d / 3 = %d\n", x+y+z, (x+y+z)/3);

—20100000 OOOOII (oo:00) 8—



oo00d 1.2. 00000000 x»y+zOOODOOOOOOOOOOOODOOODODDOOOODDOOOO

gobboboooooboboooooo

/¥ int3.c  2010-04-12  */
#include <stdio.h>
int main(int argc, char** argv)

{

int x, y, z, S;

oo x+y+zOOOOOOQooO
0oo00o0oooooUoo (oo)oo
ggoboboooooobbooooon
00000000000000000 (O
0000)00000000o00ooooo
gobbbooooobbooooooon
gdboboboooooooobbooooon
gobboboooooobbboooob
godbbbooooobbbbooooon

ugobooooooo

x = 2010;
= 4; 000000 sO00 (sum) 00000
z = 12; 0000000 0O00o00o0booonoo

oobobod s.emdgoooooooan
ggoobobooooobboooooon
goobooooooo

n
I

x+y+z;

printf("sum: %d + %d + %d = %d\n", x, y, z, s);

printf ("average: %d / 3 = %d\n", s, s/3);

oo .obdgdoboooobobbooobbboooobboob bbb bbb bboOoo
oaooood

—20100000 OOOOII (Co:00) 9—



4 OQUuoooooooon

cOooDoO0UoDoO0O0oOO0U0DOO0U0DOoO00OOO00DOOO00DODOO0OOO00DDODO0ODODOODOOO0ODn
ggoboboobooooooobobobbodoooobobobbobooobb bbb bbboooOoo
uobobobooooooobod

o ooo [=Cc00d71,...,000 [=0001;

0000 cCOoooooooooooogo

e int: UUOU
e double: JOODOODODODODO (DDD)
e char : 0O

000000 (D00)00000oooooCoUoOUoDUoOOooOoooo

4-1 0000

(0booOooOooOoUoO)oO0ooooooo (+,-,+,/)0000000000O00O0O0ODOODOOOOO
gobobboooobbooooboboooooboo:

e 00 (0)DOODDODDOO %00DO0D0O00ODDOO0OD 8%5+4 (=344=7 00000000

e 1000000D0DDDDOOONONONONDDDDODO=,/,%0000000000000(C)00000
Do0o0oOoDooog

e 00 (0)0DO0ODDOODOODOODODOODODOOODDOODDOO
O00000000: 3/5%6 (=0x5=0), 3x5/5 (=15/5 = 3).

e 10000000DODDOODDOOOOOODODODO

00000000000 (CCO0DDDDD (XOR)OOOOODODDODODOOOODO)

—20100000 0000l (00:00) 10—

ooooooooool...]ooooo
ggooobod

ggobooooooood

short : (00U )000 (= short int )
long: (00)000O (= long int )

float: DOODOODOD (DOD)

ggoood

ooo0oobooboboooooooboogn
U0Udddddddd unsigned OO0
00000000 (@ooo)oooo
(0. unsigned int: ODOODOOOO)
obooooooboobbooobobon
ooooogo

OO0o0O0TeXOOoOooooo

a’n
godoobooobouoobooobooooo
ooooooooooaln



4-2 00O

0 0O : assignment

00000000000 (D000)00O00 =0000000000000DO0O0O0
000 “00”000000000000

00000000000 « 0Doooo
ooooo

0000000 (Do)oooooooo
000 (000000oooooo)oo
00 4.1. DO00O000O0O0O0000000O00000000A0 Oo0on0oo0oooooooooooon

ggoboboooobooboooon

udgo =0d;

000000000000000 (D0D0)0D00000O00O (DooOoo)O

/* assign.c  2010-04-19  */
gobbbooooobbooooooob

#include <stdio.h> 000000000000 000000
gooooooooouooooobouooo

int main(int argc, char** argv) 000000000000 o0ooonn

{ gdoogoooooogooogon

int x = 3, y = 5;
oooooooooood (DDDDD

00)000000000D0O0oo0ODOO

printf("x = %d, y = %d\n", x, y);
goooooooooooobobooboon
X =x+y; 0000000 (00oo)oooooo
000 (00)O0
printf("x = %d, y = %d\n", x, y);

I
»

0 4.1.1. 000 x

+y; ggoooognd

~20100000 0OO0O0 M (0O0:00) 11—



O+=00 2000 1000000000
godoboboooobbbooooooo

0 4.2. 0000000000000 (0D0OD)+=00000
X += y; /* x O yOoooo =/
00000000((@U0O0O0O00000D0000)0000D0O00O00O00O0

0000000 -=0,0%=0,0/=00 (int 000%=00)000 (COO0O0O000O)O COOO0Q0DO coolOOOOOO

5 Uouoog

printf() 000000000 00O0OOOO (D0)0000O0O0O0OOOOOO PRINT Formatted : 000 OO0

printf(00000CO0O [, O, ...1);

00000 printf() OO0OO0OO0OO

e printf() JIDOOOOOOOOODODOOOD stdio.h OOOODOOODOOOODODOO 000 (00000000 0oooooo

e JJU0OD " "0OOUOODODODOUOODOODOODDOUODUOODODODDOUOUDOO (DDODOUDODO 000)00000oooo
00)000000O0000000 (DODO0o0OO0)0D000D0O0DO0DO0ODO0 “"ODOUODOOOO #include <stdio.h>

e printf () 00 U00U0O0OUOOODDOOUOOUOOUODDOOUOOULOOO \wOOOONDOO ggoboboogoboobogao
000000 (000000000)00000 0D 00000000000 UDO0UDOODOODOoDOoOO)
A\’ 0000000000000 0D000O0 N oDoooooooooo

e JO000COCOOOO0OUOIOIUOODODOD %0OD0D0O0O0OCODOOOOOOOOOO \t: 0000
(0000000000000 00000000O0O0O0OoDOONn) \v: 0000

\r: 00 (0DDOO)
O .000 +00 =DD(DD)DDDDDDthDDDX,y,x+yDDDDDD
— \n: 00 (00OO)

\b: 00 (0D0OO0O0)
\\:\O O

printf ("%d + %d = %d\n", x, y, x+y);

—20100000 0OO0O0 M (00:00) 12—



e DD UIUOUOUOUDDDODOUUUUOLDDLDbODOUUOUUULDDLDDLDOUUUUULDDbDDbDDbDOOO
ugoboboooobobooooobboooobbooan
*%d:int (0DO0DOOOOO)
%u: unsigned int (0O 0OO)
%x : unsigned int (DOOO0)
%f : double (0O ODODODO)
%he : double (0D OODOODOOOODODO)
%c @ char
%s : charx (0O0O)
*%h: %00 (000D0O0ODOO)
e ,00000D0ODDOUODUODOUDUODUOOLDODODOUDODODDODODODODUODOODOODO

L S S .

%»[000][000000] 0000 [0 [000]0D000O0O0

gooooobobn
x> g
« -: 000000 (000O00UoOoUoooooon)
* +: J00o0oooan
« 0000 : 0000000000 (00000 O0)00oooOooOo0
*» 0: 0000000000 00000
* 000000 : (00)0000000o0O0oo0
*» UOoUd - obobbooooooad
» U0 :0dbooobooobobodobood
* 000 1,L: 000 long 00000000 (%14 : long int , %Lf : long double [ )

0 .double 000000 %8.3f 000000 800000DODOOO 300000D0O0O 10D00ODOODO

0000000 400000000000000000 (DODOOOD0)—-(0D0)—-10000

~20100000 0OO0O0 Ml (00:00) 13—

0:

123 (%d)
+123 (%+d)
7o (%x)

: 123.400 (%.3f)

1.2340e+2 (%.5e)
1.234 x 102



0 5.1. double UODOODOOOO

/* arith2.c 2010-04-19 x/
#include <stdio.h>
int main(int argc, char** argv)

{
double x = 1.23, y = 7.89;

printf ("%f + %f
printf ("%f - %f
printf ("%f * %f
printf ("%f / %f

KE\n", x, y, xty);

AE\n", x, y, x-y);

»E\n", x, y, x*y);

»E\n", x, y, x/y);

*

printf ("%f / %f

% = %f\n", x, v, y, X/y*y);

0 5.1.1. 000 /0000 int 000000000

00 5.1.2. 000000 printf ) 000000000000 DOOOO0OODOOODDOOODOOO(OO
O0o0oOoooooooon)

000 (0000000)000000000000O0000O00DO “C00”000000000000O0
00 (00D0000)D000000int00 doubleJ000O00OO0Odouble 000D 0OO0DOOOOOO
000 double 00 D000 OOODOOOOOODO: 3.0/5%5 (=0.6 x 5=3).

000000000000000000 (0) D000 (DO0O0O0oO)o

O .int000 i00O0 double OO D OOO: (double) i

~20100000 0000l (00:00) 14—

goobboooobobobooon

ggooobooooobboooooon
0(000)000Do0oooooooo
godobbooobobboooon

000000000 double OO OO
goooon

x =1.0;
godoobooooooouooon

x = (double)l;
agoog



6 D0D0D00ooooon

scanf O 0000000 ODOODOOO0DOOOOODOOODOOOOODOODOOODOODOOOOOOOOOOd
gojooooooooboboooooooogooooooooooo
scanf() 00000000 (printf() 0000 DOO0DOOO)D

scanf(DOODO0OOO , 000 [, &O000O, ...1);

e scanf() 00D O0ODODOOODODOOODOOOOODODOO &¢00OODO
(00D0DO00DO0UO0ODO0ODO0OOOooOOoD)

e 0D DOUOUOUOUOUODDDODOUUUUOUOLDDLDbLDDbLOUUUOLUULUDLDDLDOUUUUULDDDbDDOOO
ggobbooobbboooobboooobbboooooboo

* %d : int

* %1d : long

* %1f : double <~ printfO 000000000
* %c : char

* %hs : charx (00O DO)

0 .000 (00)00000000000004int 000 x,y0000O

scanf ("%d %d", &x, &y);

00 2 (00 4/25(0)). 200000 100000000020000000000000000000
0000000000000 0O0O00DODO00DD scanfO OODOOOODOOOOOODOOODOOO

—20100000 0OO0O0 M (00:00) 15—

SCAN Formatted : OO QO QOOO

scanf() 000000 Oprintf() 0OODO
gooonoooibd stdio.h g
dofdobooooobooooooooo
gooooooooon

O00scanf() O printf() 00000
dofdooooboooboooooooo
goooboooooooooooooo
gododoobobobobobbbbbbboo
DDDDDDDDDDDD(DDDDDD
000000oUoUOoooooo)ooo
gojoboooboooboouooouoo
gooodoooooooooooonn
00000 scanf() ODOODOOODOODO
goooooooooood

0000000000 10000000
0000000000000000
000 (00) 00 (Enter)O

0ooO



